SOLUTIONS

1. Given: Hﬁ%li'-s‘ects LABC ’

Prove: £A=2C

PROOF
B = Given
LABD = LCBD Given (Definition of Angle Bisector)
DB = DB Reflexive Property
@BD= @D SAS
LA=/LC CPCTC

2. Given: C bisects ﬁ%ﬂ" LB = /D (right angles)’ and LA = LE

B D




PROOF

LB=/D Given (right angles)

LA=LE Given

ﬁiﬂﬁ%} Given (C bisects ﬁ )
ABC= BAC AAS

CPCTC

PROOF
k]'{l_éuﬁl Definition of a midpoint
LSRP = LTRP Vertical angles
=k Definition of a midpoint
BrP = TRD SAS
LP=LQ CPCTC

4. Given: £A = LB (C is the midpoint of BY . Prove: 4B =ZY
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PROOF

LB=LY Given

% Definition of a midpoint
LACB = LZCY Vertical angles
RIBC= @Y ASA

AB=77 CPCTC



